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Example 4: A pet supply company makes two types of fancy dog beds: the Couch and the
Throne. Each Couch requires 30 minutes in the cutting department and 45 minutes in the sewing
department. Each 7hrone requires 45 minutes in cutting and 75 in sewing. If the company has

allocated a total of 80 hours of cutting time and 130 hours of sewing time to dog beds, how many
ot each type can be made?
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Example 6: For a certain area, when the supply of available square bales of hay was at 30,000
bales and the demand was for 26,000 bales, the price per bale was $8.50. When the supply was
25,000 bales and the demand was 23,000 bales, the price per bale rose to $10.75. Assuming that
the price-supply and price-demand equations are linear, c.'llc.ulate
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a) the price-supply equation.

b) the pl‘ice-dgnlalld F—:quation. ' U@ Csc‘i\ \g&S? Wt(@)

¢) the equilibrium price and quantity.
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Example 7:  After enjoying detailing cars for his friends and family for years, Frodo has
decided to open his own car detailing shop. To keep his shop going, he must pay fixed costs of
$1300 per month (lease of the space, basic utilities, etc.) even if he doesn’t clean any cars. He
charges an average of $200 for each detail job. Each detail job costs Frodo approximately $20 in
supplies, electricity, and water; each job also costs Frodo $120 in terms of time. (He made
$30/hour at his old job, and he figures 4 hours to do each car.)

a) Find the cost equation and revenue equation for Frodo’s business.
b) How many cars must Frodo clean each month for his business to break even?
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Example 4: Write the augmented matrix for the system.
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